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14U/95/3 Set No. 1
No. of Queations /Wl % #wr ;: 100

Time /AWa ; 214 Houra /9% Full Marks/quie : 300

Wote/AT: (1) This question booklet contains 100 questions in all {30 in Section—A and 70

{133)

{2)

in Section—B). Attempt as many questions as you can. Each question carries
3 marks. One mark will be deducted for each incorrect answer, Zero mark will
be awarded for each unattempted question.

woun g # T 100 v ¥ (wve-= 4 30 7 avs—= d 70)) s
Mﬁmﬁﬂmﬂsmmammtlmmm#%ﬂn_
I W AT | FRAE FIORA W W IHE W A

&

If more than one alternative answers scem to be approximate to the correct

answer, choose the closest one.

w2 wwfies dwftw s mft I ¥ O v W, N By @@ w3
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1.

(133

Section—A

HrE—

A teacher will become accountable to his duty, if he/she is given

{1) fr.ccdnm in the selection of subject-matter and methods of teaching
(2] training in teaching '

{3) more opportunities for higher studiea

(4) higher salary

w wemE IR & % wiy et g o @

(1) fameg w fhee fift % 5§ = § o

(2) farem & whhgw Rm am

(@) I A ¥ fol sEwm R s

(4) wfires Ao R am

The Mopntessori Schools insist on

(1] creative teaching (2) the principle of sense training
{3) complete discipline (4) equipped achool buildingsa
wiRwl fame a8 wm =3 §

(1) gwTers fger o 2) ¥=x v % fm =

(3) T s W : (4} AA "R fygem v W

If you want to ask a question in your class to evaluate the knowledge of your students,
the best method will be to

{1) ask more than one question at a time
(2] ask lengthy questions
{3) ask guestion from a particular student

(4] put question to the whole class and then select a student to answer it
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A AR fe am oavh T d e R TR W e w0 ¥ @ TR (BT e £, TR

- 3fwm R w0k

(1) mmﬁwﬂmﬁmmm

(2) w& ¥& N

@ s fafie om A w9 @

(4} T8 = ¥ WP WE N W W I T T W I TR e

A teacher will beﬁumc good communicator if she/he has ability of

{1) speaking 2) listening

{3) using the lapguage (4) the use of humor in speech
6 IGE IO GO W WIET R IEH T _

(1) ¥ € A=Em B 2) g B degm @

{3 T & w6 G @ (4) TR W HA B A A

.  Which one is the least required quality of a teacher?

{1] Love, cooperation and encouragernent
{2} Reading of textbook in the classrcom
{3) Individualized help to needy students
@) Open classroom discussion

W AW % ol weR wH Fifve deem @ R
(1) ©, WEm @ I TR w&

{2 PR TSIFER YA

(3] FeEnZ o W Yufew wwn wER W=
] wﬂlw
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(133)

The most important function of a teacher is to

(1} make students understand what he says

[2) keep students rclaxed during his class

(3} complete the course

(4) take classes regularly

FemgE % TR wreEqel v ¥ fr oaw

(1) et mdt W ol = wmn o (2) =0 ¥ 203 ol B Ty W

(3) T W o W {4]ﬁaﬁamﬂ

[f a parent refuses to give permission for his child to parnmpate in cultuyral activities,
what will you do?

(1) T will refer the matter to the Principal

(2) I will discuss the educational purpose of the cultural m_:tiviti:ﬁ with the parent

(3] I will ask another teacher to convirice the parent

(4) I will cancel the cultural program

W A A TR A R wdE § o R A T Y, @A w A
(1) 4 w0 am B ywEEE T ol |

(2) # sfeIeE % wm weples wdET & fow Itw W w49 e
ISIﬁ_ﬁiﬁqa’tmﬂ:ﬂﬁmmﬂmﬁﬂ:m;@ '

4 f wghs st M R w W

To maintain interest among students in class, a teacher should

{1] use hlackboard {2) .aak-qui:ntiun and discusa
(3] tell storiea {4) use all of the above

41 # gt A 3fy wh R wE B Sems B

(1) R 39 wen ahl) 2) v @ feRd

(3] Tt gaEr wifRd (4) ST aft = 3wEm = o)
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Students who ask questions in the clans should be
(1) advised to meet thc teacher after the claas

- {2) mmuragodmmmpatemthcd:mmmmthcdm

{3) encouraged to continue asking questions
(4) encouraged to search answers independently
i T TR A e ) _

(1) weEs R W gEm R0 W
- (2) wimimtﬁmhmw

(3) wTR IR R & R defts e W ol
(4 F9: 3w wwW o ¥ PR iheita fen am Wi

Teacher's behaviour ought to be

(1) adminiatrative (2) inatructive  (3) idealistic (4) directive
A W R W N
(1] Swmafms (2) STETARGE (3) swemiwes {4} Pwerws

Hmﬂmnintn.rnu:anh.ihmﬁmi:tu

(1} winter (2) bear 3) dream (4} sleep

R o tu s R R 42 @ v

(1) dowm & A ¢ (2) v dRAL (3 wr & R @ 4 For ¥ fork A

Artist is to painting as MP is to

" {1} attorney 2) law (3) politician (4) constituents
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A2 waan B & ol ¥ A2 @ wmofe
{1] st % fod 2 (2) ®Hx & fd &
(3) iy & ford & 4) Pafaw & RR 2

13. Which is the number that comes next in the following sequcnce?
ol WE W A% WAy
4, 6 12, 14, 28 30, (...}~
(1) 32 {2) 60 (3) 62 (4) 64
14. Forecast : Future : : Regret @ ? |
{1} Present (2) Atone {3) Pant (4} Sin
wiowmh : gy : : TEENG 7 ]

18. Motnrcyﬂe is related to Petrol in the same way as Life is pelatedto
{1} Earth {2) Sun {3) Moon {4 Btarr
drrEnfed w1 W@ T e o e da wiEa
(1) w3 (2) g & (3) <z} (4) wt A

16. What will come at blank space?
DEF, DEF2, DE2F2,

, D2E2F3 .
(1) DEF3 (2) D3EF3 {3) DYJE3F (4) D2E2F2
- foF TaR R B % @ w0 osmgmy
i Hiw2 22

H2f2m 3
M Htww a3 2 B3fw3 @ H293 (4 A 2% 2 w2
1133)



17,

18,

19,

133

14U /95/3 Set No. 1

Work ;. Motiye : :
(1) Budy:Mi_.nd (2) Wall : Paint  (3) Body : Food {4) Petrol : Car
wi:ﬁw':: |

{1) ok : & (2) %= ;™ (3) ol - v (4) I\ : FIW
Which word does not belong with the others? _
(1) Cornea {2) Retina {3} Pupil {4} Vision
for & 3 Wa-m T @ wafw A7 '

(1) wiffa @ W= . (3) =fm 4) frm

Pointing towarda a persan, a man said to a woman, * His mother is the only daughter of
your father®. How is the woman related to that person?

(1) Sister (2] Daughter (3) Mother (4) Wife

s W P W W s T o YR @ e R, “swl W ek fm B e Th
1w e aw =i 3 fsm TR A melRw 47 :

(1] wea (2 - 3 =t (4) weht

» Which of the following will replace the ‘7" mark?

i & > R & wr w v B amen?
5896_5423?, B9654237, 396#423, 965423, ?
(1) 58965 (2) 65423 (3) 89654 (4) 96542
The National Council of Educational Rescarch and Training (NCERT} was establithed
by the Government of Indim in the year
{1} 1951 (2) 1961 @3 1w . % 1981

uﬂwﬁﬁ:mdﬁh“m-moan)ﬁmmmw
(1) 951 3k (2 1961 F W 3 1971 AR (4 1981 F WA
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(133

CIET atands for

{1) Central Inatitute of Effective Technology

{2} Central Institute of Education and Teaching
(3) Central Institute of Educational Technology
(4) Central Institute of Education & Training
Hotmfofodto w whisr 4 |

(1) agw voRepr e yhfea damth

(2) ¥=m wikar Al gm o Afm

(3) ¥ weReR A @ el

4 W@ velteg A Wwm ox

Which ane of the following cities is not related to RIE ?

(1) Ajmer {2) Bhopal (3) Mysore
e & & B-m . aeanfofo ¥ wafim ol 17
(1) i 2) W= (3) f

Open Bamic Education Programimes {OBEP} is for
(1) children below 14 years of age '
{(2) adults above 14 years of age

(4] Raipur

(4) g

{3) children bd‘{w 14 years of age and adults above 14 years of age

{4) Nane 9[ the above
e I fimn R

(1) 14 =f ¥ w9 & ==t ¥ RRA
2) 14 = A Aftm & Taet F oy

(3) 14 7 3 30 & vt & B @ 14 = 3 3w ¥ et * B

4 IR 9@ wrf ff
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28. Who is the present Chairman of UGC ?

(1) Prof. Ved Prakash {2) Prof. H. P. Gautam
(3) Prof. H, Deviaj (4) Prof. Y. C. Simhadri
T & goshoto ¥ rcam A= £7
(1} e A7 wHm : (2} o w@e o fram
(3) o T Yarw (@) o amfo o frrerA

26. Sarva Shiksha Abhiyan (SSA) programme was pioneered by
(1) Mr. Atal Bihari Vajpayee (2) Smt. Indira Gandha
3] Mr. Chandrashekhar (4} Mr. V. P. Singh
wdfim wPmm wriET & sman @

{1) h wza fah aEnh (2) st 3R nidt
(@ W wver @) #h do flo fm

27. Central Institute of Indian Languages ia situated at

(1} New Delhi {2) Varanasi {3) Mymore ‘(4) Pune
widi wm T A R .
(1) ¥ fglt & [2) IR & (3) fg A 4 T H

28. RCI became a Statutory Body in
(1} 1986 (2 1992 (3) 1993 (4) 1996
FAMofto e v Awfs dem i

(1 1986 # | (2) 1992 ¥ {3) 1993 # (4) 1996 &

(133) | 9
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29. On which datc NCTE was conferred the status of Statutory Body?

a1,

aﬂn

(133)

(1) 15th August, 1995 (2) 17th August, 1995
(3) 18th August, 1995 (4) 20th August, 1995
e allm =t Wello@tofe wh Awlw weay wit?

(1) 15 aoTes, 1995 (2) 17 s, 1995

{3) 18 M, "1995 (4) 20 #FEd, 1995

National Institute of Mental Health and Neuro Sciences ia aituated at

i1} Lucknow {2) Bhopal (3) Bengaluru (4) Delhi
e weRe i dza tew o T i o
(1) RS # (2) o i (3) g A (4 R #
,Section—B
TvH—8

The First Buddhist Council held after the Nirvana of Lord Buddha was presided over by.

1) Anand (2} Upali

(3] Mahakassapa {4 Moggaliputta Tisss

TR R & Pl ¥ vew R e g @R semm B © 602

(1) sm= (2) Iy (3) e {4) wimiftrge frey
Who built the world famous stupas of Sanchi?

(1) Ashoka (2) Chandragupta .Maur,]ri.s.

{3] Bindusara (4) Ajatshatru

10
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Wtﬁﬁhmm@wﬁuhhﬁhq?
(1) =ArE (2) wEw :N' (3) fargem (4) STy

33. Who was the founder of the Vikramasila Mahavihara?

(1) Kumargupta {2} Harsha (3) Skandagupta (4] Dharmapala
it mofiEr w1 dvers A7 N7

(1) FH 2) = L (3) =R (4) =i

34. | Who among the following foreign travellers visited India duri._ng the 7th Century AD ?

(1] Alberuni (2) Fahien [-taing {4} Sulcman
Pcfofr § & fisg il aefl 3 78 o8 % e & @ w7

(1) Frereed (2) ik (3) ¥R (4) gowH

38, The ladics were appointed to scnior position in the administration of
(1) the Choias  (2) the Chalukyas (3) the Pallavas (4] the Pratiharas
e § wfterslt ® 7= @ w fge e o @
) e kw2 WA TR (3) W F w@ (4) wREd % e

36. Which among the following Mughal rulers donated land for the construction of Golden
Termple at Amritaar?

{) Aurangzeb (2) Shahjahan (3) Jahangir (4] Akbar
Aofin § A fss TE s 3 sprw § el AR % fBaiw ¥ R qf &7

{1) wlvonim (@) {3) =i 4) sm

4

{138 - 11 Er.0,)
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aT.

a8,

39.

i133)

The famous Kohinoor’ was presented to Shahjahan by

(1) Asad Khan 2) Mir Jumla
(3) Muhammad Amin (4) Sadullah Khan

W ® Ay AR e & Ren e

(1} g of (2) R Fwen T Lo (4) @gg @t

Where did the Santhal Revolt (1853-57) take place?

(1) Chhota Nagpur (2} Malwa

(3) Pune _ (4) Tripura

Age @ (1853-57) fam v W B a7

(1) BT (2) mre ERE L - 4 By
The founder of the First Girls’ Schoal in Pune was

(1l M. G. Ranade : (2} Bavitri Bai Phule

(3] Pandita Rama Bai (4) Raja Ram Mohan Ray

T & 9 S A e o B e
(1) e e TR (2) wfeh o 53 (3) fm o [4) T ToMER O%
In which Seasion of the Congreas ﬂieremuapﬁtbetwommodem{euandmmiata?

(1) Bombay (2) Calcutta (3) Surat ~ . 4 Ahmedabad
aﬂan#ﬁm&lﬁmﬁmmmaﬁ#mhﬂmgm?

1) et T (2) e (3} g 14} HERZER

12
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(13m’

The pre-historic site well-known for the
(1) Langhanaj (2) Birbhanpur

1410/95/3 Set No. 1

rock painting is
(3} Bhimbetaka (4} Neagsrjunikonda

e freemrtt & R sfig siRwRe were w1 am 4

{1) oS (2) rwFy

Which Mandala of the Rigveda refers to
{1) 7th (2) 8th
ﬁgtﬁmmﬁmammﬁmt?
() 74 (2) 84

(3) ml (4} TR
origin of Vamas?

(3] 9th {4) 10th

(3) od 4 103

Most of the Mauryan edicts are inacribed on

(1) stone

3 papyrue
sfwn I dw stk £
(1) we w

(3) gt w

Buddha was born in
{1} Sekya family

(3} Vajji fasmily
Rw?

(1) @ F= §

(3 W yw #

13

{2) copper plates
{4) clay lablets

'{2] AT W

(4) Fdt R il w

{2} Malla family

(4) None of these

@) 78 ¥a
@) R R
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48, HKovalan is the hero of the

(1) Manimekalai -2} Silappadikaram
(3) Jivakachintamani (4) Puranam
Fraga T R

(1) wPEE & (2) feemferm %
(3) rwr Ry & | (4) qOom %

46. When Hastinapur was washed away in ﬂcéds, where did Kurus secttle?

(1) Bithur {2) Kaushambi (3) Mathura (4) Kampilya
w TR T F ww T @ e wel w7
(1) i - . (2) *remaht (3) wqm i (4) Wit #

47. Who is the autﬁnr of the Raghuvarneam?
{1} Bhasa {2) Asvaghosa (3) Kalidasa (4) Bharavi
. WEoq % dEE w7
(1) @ (2) sy (3) wiwm (49) wrfd

48. Buddha performed the Dharma-Chakra Pravarten at

(1) Bodh Gaya {2) Sarnath (3} Sravasti {4} Rajgriha
12 3 wivy wada e

{1) emm & (2) o & (3) Arh & (4) TrAR ¥

{133) 14
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Inscriptions of whoae three of the following rulers are inscribed at Allahabad Prillar
(1) Ashoka, Samudragupta and Akbar

(2) Chandragupta Maurya, Ashoka and Jahangir

{3) Ashoka, Samudragupta and Jahangir

(4) Ashoka, Skandagupta and Jahangir

veeAry e @ Pofifem & @ R fe ot % e e A

(1) HYE, TEH TOT SR  (2) wam W, i W ST

(3) s, WEIA W IEdi (4) smiw, T T FER

Who had composed the Aihole [nscription?

(1} Harisen - | (2) Ravikirti (3) Vatsabhatti (4) Banabhaiia
iow dw o R R |

{1) whiw (2] Rebfi (3) FwafE (4] W

The largest rice producing State of India i

(1} Uttar Pradesh (2) West Bengal
(3) Andhra Pradesh (4) Tamil Nadu
WA § Aot & osd W daew e R

(1) Im Wy (2) =felm W= (3) wrEwEm (4) afteng
Prime Meridian is '
(1} 0° longitude . {(2) 90° E longitude
(3) 90" W lengitude (4) 180° longitude

15
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O e ¥

{1] 0° FWmR (2) 90° 9o 2M~W  (3) 90° Yo IMRR (4) 180° ¥wmm
53. Number of persona expressed per unit area of agricultural land is known as

(1) arithmetic density ' (2) economic density

(3) agricultural density (4} physiological density

wfx v ¥ qft % wd § =w FWEn B T oaww b

(1) wifes S (2) sTRi® we B FATE 4 wiE T
54. Gurumahisani and Sulaipat in India are famous for préducuan of

{l} manganese  (2) bauxite (3) iron {4} copper

W # yeher W g wRig §

) m_m%m (2) Weomz I ¥ i

(3) <z s & fm (4) Wt 3aE ¥ famg
55. The habitat of Kirghiz tribe is

{1} Centrel Asia (2} East Africa

(3) Congo Basin _ . {4) Arabian Degert

feofta smarfa & frara &3 2

(1) = o (2) g sk [apmirniﬁa:r“ (4) T TR
56. ‘Earth Day’ is celebrated on

(1] 1ith July {2) Sth June () 22nd March  {4) 22nd April

‘9eft Raw’ wamn I 4

(1) 11 gerd = (2) 53 = (3) 22 9 @ 22 sdw W

{133) 16
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87. The temperate grasslands of Argentina is known as
(1} Steppes (2} Prairies (3} Pampas (4) Downs
spifern & aaiinn o W e w0 3w e 47

(1) = (2) vt (3) e (4] w4

'88. Which one of the following is warm-and dry iocal wind?

{1) Bora {2) Mistral 3 _Bil:i:nrr.t (4} Chinook
B A R @ s e e A7 |
(1) = (2) Frgm (3) Fwnd 4 Frw

59. ‘Lapies’ are erosional landforms produced by
(1) groundwater (2} river (3) wind () glacier
7 peep—Y S '
M PRI (2 @ @) v 4 for T

60, -Whﬂhndpmpmmddthc'ﬂinuy&uﬂypoﬂmﬁn’wtheaﬁ;innfMF

(1} Laplace (2) Rusael (3) Chamberlain (4} James Jeans
e B i § waRe e sler’ W TR fieed fe w7

{1] st (2) W (3) WowEm @) w dW
§1.\ Marginal utility is

(1) addition to total utility

(2) total utility minus average utility _

3) mm.uﬁﬁg_gmwmm_urdumum

(4) towal utility ghus svarnge utility

(133) = e
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63.

e i 2
(1) F@ ywfm & iz
(2) Fa swifm = e swdfom

@) ¥ Iwfm s swim T e v

(4) ¥ P o shen I5Efm

When the demand curve is horizontally paralle], it shows

{1} perfectly elastic demand (2) highly elastic demand
{3] unit clasticity of demand (4) . highly inelastic demand
% wn 3% 8w Fw & THETW h R, B W = w=d R

(1) i @R vt (2) srufes S oty
{3]writmnhaha [41mmnnh

’When the pnue of a normal good falls, more of it ia purchased because of

11l to the left of ity loweat point

{1} positive aubatitution effect (2) positive income effect
(3) either (1) or (2) . (4] Both (1} and (2)
T T R R A P 4, @ R sfes o o0 a4
(1) s YRR TR F W (2) FRRE A W ®
(3 (1) W (2) ¥ =™ @1 (1) ™0 (2) ¥ v

Marginal cost curve cuts the average cost

{2) 1o the right of its lowest paint

[3) - at its lowest point {4) does not cut at glj

18
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1) % e feg Tl W | (2) 3% Em feg & Tl W
@ AR ) fege 7 wem

N

68. | Consumers are likely to get a variety of products under
(1) monopoly (2} monopolistic competition
(3} oligopoly (4) perfect competition
el W AP TR R AL T g
) wwR E w0 (o) ks SR &
(3) senfomm & s=pfa (4) ¥ vRafa % werlw

5. mm_mmmqmtd-mm?mmmw
(1) Marshall (2) Greaham (3) Keynea {4) Priedman
“wom W Wk gE W WA & W B 34 4, 9 el aReia fen m?
(1) wriw (2) wm (3) ®= (4) Weha

67. Prooess of credit creation has the effect of
{1} inereaning the real wealth of the country
{2) raiaing the real national income
{3) increasing the supply of moncy
4) decreaning the outstanding debta
R R A oaae e
{1} T Trals Wi ¥ wgE (2) weafis e s # 3fE W

sy | 19
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68,

T1.

(133)

Which of the following is not a fecature of underdeveloped economy?

(1) High rate of capital formation (2} Population explosion

(3) Predominance of agriculture (4) Backward outlook of people .
firs & 3 Pt efesRm 2 @ R T8 47 |
(1) fAsio B 3 (2) e frede

(3) $R B wormm (4) @t ® fFew g
Canons of taxation have been given by

(1) Findlay Shirras | (2) Adam Smith

{3) Alfred Marshall (4) J. M. Keynea

W & B wivaRa 6l 7 2

(1). fexa fm= Zo _ (2) wem féw zo

@) sevs wfa g @) o e B g

‘World Environment Day’ is celebrated on

(1) June 5 (2) October 3 (3) March 1 (4) December 22
T waiww Rag’ wamm s 4

(1) 54 = (2) 3 sgm W (3 1 W W {(4) 22 fmem =
Who of the following ia a social contractualist thinker?

(1} Montesquien {2} J. 5. Mil (3) Locke 4 T. H. Green

. Frafufam & 4 A Wi stmard frars 47

[1) == 2 boWe A (3) tw 4 R w@o

20
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72. | Which one of the following is nat a feature of Federal form’ of Government?
(1) Dual Government {2) Divimon of Powers

(3} Written Constitution v(‘;} Parliamentary Sovercignty
mi%mmmﬁﬁmﬁﬁﬂm#t?

. (1) St W (2) o w e (3) fvies dfem (4) =W woaqm

T2, mofthcfnnoﬁngm.mbuofww |

{1) Motilal Nehry (2) Jawsharia! Nehru
{3) Ballabh Bhai Patel {4) Mshatma Gandhi
Praffrr § 3 ¥ v o & w5 wee 27

(1} ftem Y (2) w—— (3) wgwe ww (4) wERm nhd

™. Whmthuﬂhﬁmndthnm&mmtmmyaflmﬁn?-

(1) Dr. B. R Ambedkar " {2} Dr. B. N. Rao
{3)" Dr. Rajendra Prasad (4) Dr. K. M. Munshi
T R im0 % wag @3 47 '
{1} wo WMo WRe WATE {2) Te o We T
3 e W waw {4) ®e ¥o o AR
TS, ThhﬂdnmmtﬂﬂuﬁmmnddﬁdinﬂmlndhnCmﬁmﬁnnb}-
(1} $2nd Amendment {2) 44th Amendment
(3 25th Amendment (4 17th Amendment

wrm e § s it W W@y
(1) 428 svow pu. (2) 4l ddw T (3) 25% T O (@) LTGRO

(189 21 F.2.0)
: £
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{133}

“Will, not force, is the basis of State.” Who said this?

(1) Mill 2) Green (3) Kant {4} Hegel
‘T W SR wis T, = R T e e R
(1) fm (2) M= (3) W (4) We

What is the date of the commencement of the Indian Conatitution?
(1) 17th November, 1949 (2) 26th November, 1949
(3) 26th January, 1950 (4) 15th August, 1950
W wRME % T B Ay wn Ry

{1} 17 "W, 1949 {2) 26 T, 1949

(3} 26 =mht, 1950 @) 15 W, 1950

Who certifies a Money Bill?

{1) Speaker of the Lok Sabha (2) Finance Secrctary

{3) Finance Minister {4) Law Minister

w1 frdew % 29 sl W 47

(1) o w1 Jomg (2) f= e

(3 fam s (4) wr/fafe h

Which one of the following does not find a mention in the Freamble of the Indian
Constitution?

{1) Republic {2) Secular (3) Socialist {4} Pederal
ﬁnﬁhiﬂﬁwwaﬂaméﬁmﬁmi#!?

{1) oy (2) iy B wEm)  c (4) T

22
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80. Who appoints the Governor of a.State in India?

- {1) Prime Minister ’ (2) Chicf Minister
(3) President (4) Union Council of Ministers
T ¥ v B figfe ¥ wm e )
(1) warerft {2 Teh
(3 gy - , (4) W HhRwe
~
81./ Production function’ of business is related to
{1) place utility {2) time utility
{3) possession utility ._ (4) form utility
W e v g ) _
(1] wwm vl @ (2) @ I @
(3) wnfiew P (4) w9 IwP A
£3. The characteristica of sole proprictorship do not include
Y ease i Bormation (2) one-man control
(3} artificial person (4) unlimited Eability

Tl s & Privenslt § wERa 0
(1) Friw  grEm (2) wea e (3) wfm =fs {4) sniftm =i

83. lssue of equity shares in'a source of
(1} sbort-term finance
(2] medium-terma finance
{3} leog-tertn fimance
{4} Both sssdhua- and short-terth finance

(139) 23
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{133

ar vt | i w g
(1) vy = =
f3) ‘mtaft fimr w

‘Mental revolution’ is related to
{1) scientific management

(3} apecialisation

‘moifis wift' i

(1) alrﬁ!: Y

(31 Ffinfwem 3

Flanning is not posaible without

(1) organiming (2} selecting
Bt v ol & fien
(1) 1A & (2) a7 *

Organisation does not include
(1) division of work

(3) group of individuals

a3 d afdfer o 4
(1) == favrem

{2) wftem % ¥

24

(2) wemafhy fw =
(4) wemafy 3 seurath fw 26 =

{2) busineas combination

(4) mimplification

(2} =TT 4 o

(4) wreflwrr @

(3} forecasting [4} controlling
(3) TP ¥ (4) fFmor %

(2} source of authority

4) budget

(3) =l W e (4 wee
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87. The concept of functional organisation was propounded by

(1) F. W. Taylor (2) Herbert Simon
3) .Chj:uter I. Bernard (4} George R. Texry
e @ € s v £

(1) o TWYo oR T {2) W wprR
{3 ¥ oo wid 3 ; (4) A Fme 2 7w

88. The Indian Contract’Act came into existence in -
e st sfbbrm fen W sfeva § omne
) 1972 (2) 1956 (3) 1947 (4} 1872

9. An agreement with a minor is

(1} void (2) valid (3] voidabic (4) illegal
Tt & e T api v R _
(1) =k 2) 4w (3) wkha (4) Ay

90, The number of partiea in a bill of exchange ia
Aft Ry 3§ e R wen O 8
(1) 8 (2) 4 @) S5 (4) 6

1. Vitamin D ia needed by the body to
(1) digest protein ) (2] absorb amine acids
{3) sbeorh calcium (4 mm _

(138 25
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it § fmfim D fsfafte & fog saws g
(1) B W A , (2) an‘ﬁh'-f’lmwm
(3) &mm W s (4) weaa Fmfo

93. A person on a strict vegetarian dret is most likely to become deficient in following

vitAamin

(1) By, (2) Folic acid (3) Ascorbic acid (4) Bg

T2 T @il % s d P fefe & TE 0 B it g 0
(1) By (2 Pfm @ (3) wefls @ (4) B,

What is the RD.'. allowance of iron for a hre@nnt woman?

(1) 20 mg per day "~ (2) 30 mg per day
(3) 40 mg per day (@) 38 my per day
mimft aofien ® g Aw v w1 ARrRe wm oW 47

{1} 20 fromeo ghAfim (2) 30 fyomre wfifem
{3) 40 frome wfdfix (4) 38 femre whAfid

94. A scvere protein deficiency in childrén causes

{1] Rickets i2) Kwaahinrlmi-_ {3) Scurvy {4) Marasmus
¥t § rivie SR = @ P @ a2
(1) fi= (2) mﬁﬁrwt_' (3) wf (4) e

(133) 26
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The functional unit of the kidney is the

(1) tubule (2) glomerulun (3) nephron
R wdwet vl §

{1) =g (2) whivm (3) WA

Nume given to the production of cultivated silk is
{}) agriculture - (2} horticulture (3} foriculture
T e feafvi T Rw v

(1) BwR (2) wdwew (3) wrlwrw

Ratio of werp ywns to filling ywns in a fabric is called
(1) thread count (2} cloth count - (3) balance
N w Kfm a2 e wEm R

(1) R W= (2) o™ wE< (3} %=

Denier range suitable for clothing fibre includes

{1y 15 to 24 2} 1t07 (3] 20 to 22

R ¥ R TS ety

(1) 15 & 24 @2 1®&7 (3 20 ¥ 22

27

(4)

(4)

(4)

(4)

{4)

{4}

(4)

{4)

14U/95/3 Set No. 1

yarn count

w W=

7 to 14

74 14

PTO)
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100.

Birth defects or abnormalities are called

{1) congenital defects (2) intranatal defects
{3) neconatal defects - (4) labour defects
% ¥ vfia fawn T SR weawh §

(1) +uam 2) tRrEa fm
(3) AR R (4) wadsrafin Ren

The term used for children, who have reading difficulties, is

(1} phobia (2) autism (3) depression {4} dyslexia
= o o § o o % R e o d
(1) =R 2) = (3) owER (4) (AR

* %k

<8 D/4{133}—4667
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10.

11.

12.

132,

14,

s gt el % 10 e ¥ w @ 3@ d B oywm d wit g oAye # o S
Tz 7@ 21 g dugE T WR W owE gEw eeee wa-Blgs O ol #
el iR wm = &)

s waA § formrer ET FEE-vF & sfifew, feten W mm @ o wgen Fvm o@m F A e

Ta-mA Wem A frm o ¥ 2R 7 @ A ek 7 o fEw w0 gaw Iov-v7 T Ry wrbm dger Im-
v7 ¥ K qewET Fw oam

WM HFTE AY IN-9A F FAF GYR FAT-y8 W 97 A Pt wm w fee

TW-TF & wAR YR W WA A Hen agwww Fwife wm w fod gw AR R g w oma o
wet-aal smvEE B wgl v gfad W™ owEE owan dT owm T oA g ferd

sfe UHo o WF W SAFEWF HEW, WE-Tfamm v 7 ¥ Fgewn (3 w6 [) aw wA gfEe W
FAFEAHR Te 3 e UHe ¥Wo W Wo F WEEE F Iufemmy w amha W 2

snfE Wi # @ o sfted ey fdew g wmhm B e s 9p UF o AnR & wm
AT A

yo-gi ¥ e 9 ¥ TN dwferw I A T ¥ wwdw w F dfvE 3w & faw ave 3W-
V¥ ¥ gty e ¥ W @3 o gu w Ier-yw & o4 9% W A% R fnl & sgEn 17 &
w7

WEE TR ¥ IW ¥ 6 Fael wE @ g9 # ma w1 TF A dfusw geEl @ oM@ w0 WS
7 W AT WA W AT ITW TR T AT

w4 f ue AW TR g sifEm T ween AR w1 we #) oie aw R 9w | oFev e 3w oo
2 @ watym i ¥ am f M e gl # @l @ 2 0wt m oA s fgR A

W wd % il ve-yfes & qaEys & s 9@ 9§ aa sfae g ow owEm owl
qitEl & IR Fad FeTHoHTo IY-TF W wad ¥ wmr = ¥
UiteT #OR ¥R R et TN wvEY # ST WY W sRin TRl e

fe =3 Ml gian | sgfee svEl | omam w2, @ 97 favafroem o Bdife 22 wat, e
ErErTh



